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What fraction of the whole circle is not shaded?
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m A triangle is translated from position A to position B.
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Complete the sentence.
The triangle has moved squares to the right ’ oy Poca?
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l A square tile measures 20cm by 20cm.
N -
A rectangular tile is 3cm longer and 2cm narrower
~ o than the square tile.
e R
What is the difference in area between the two tiles?
¥ 4 N
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m Circle the pentagon with exactly four acute angles.
2077 Paper 3 QIS

O C
M X

! Wy Pocket

../ Private
(= Tutor

1\ 1 mark



2016 Paper 2 Q20

“ k““ \““ m Here are two triangles drawn on coordinate axes.

Y

(-10, 40)
20, 30)
 { Y

(10, 10)

/

Triangle B is a reflection of triangle A in the x-axis.

Two of the new vertices of triangle B are (10, -10) and (20, -30).

What are the coordinates of the third vertex of triangle B?

1 mark

Calculate the size of angles @ and b in this diagram.
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